IRARAE 22 ER 22 % 2R i gzt (108FER >EFA )

# y- 8 -5 & oL
3 - — S — I3
“ £ B4 | P £ B4 | i I g4 | P £ go | e | go | P
o B (-) 2 | 2 |m= (=) 2 | 2 |#= () 3 3 |#=2 (=) 3 3
0
=
I 2 | 2 2 | 2 3 3 3 3 10 | 10
. o () 2 | 2 |preaw) 2 | 2 fEmeags(z) O
: 1 514 () 2 2
i
=
P )3t 2 2 2 2 4 4 0 0 8 3
KT A S 2 | 2 |#we¥E 3 | 3 [#u@Ezs 2 2 |[#82BKRERY 4 4
%?'Gﬂﬁ 2 2 %h:'ﬁ?» 2 2 %mﬁ]ﬁﬁﬁé] 2 2 %gn%& Bl s u%\ 2 2
1 2 53 ¥ %3 2 2 |23 vEk 2 2 |iE2 e 2 2 2 Y =i 2 2
M cop pps k] 2 |2 [Magkedr 3 | 3 [#ankiris *ﬁx* 3 | 3 |#aBEHEEll | 2 2
. g Lt ey A 2 | 2 [gims 2 | 2 |*¥ 9Bl RAefA 2 2 mg%%w = :
" g H 2 | 2 |[#agymany | 2 | 2 RS ORT 3 >
7 % S HE LT 2 | 2
3 14 | 14 14 | 14 11 | 11 15 | 15 | 54 | 54
i3 3t 18 | 18 18 | 18 18 | 18 18 [ 18 | 72 [ 72
XT rne 3 aw 9 M3 4 2 | 2 |wagipe 2 2 |[RARILAE 2 2
i P o | 2 |#xewss o | 2 |5 ~umun 2 2 |sae gy 2 2
= R 2 2
i3 LR F ’ ’
|3 2 | 2 2 | 2 2 2 2 2 8 8
S B W I BT A B pE 20 | 20 20 | 20 20 | 20 20 | 20 | 80 | 80
i
CRAAE R
CEBRAKE R

= R A AR R
BOE AR R
2O ESIE AT REE U s (DR 1084 IR I8 (DL ELB 154F S (DL EES 188 A
2AEREEHBYEABAREL (1) £ 92584 o (2 Emt By 1 9-258 4 o (3)7 &sT HY 1 0-255 4 -
B B2 - H—FHAtd p— X TR ERF O BT A SREERET A R IE
N
1A% F it 7 R GHE -
2.4 4T FEIrA S Z R E B P WARLE P B T2 F B




